
 

Mat1375 HW6

e

Sol a Byhorizontal line b
By horizontal line test

test for those for each horizontal like
horizontal lines in blue there is at most one

there are morethan one intersectionpoint wien
intersection point with the givengraph
the givengraph thus it is 1 to 1
thus it is NOT
one to one

fix 742 1 4 6 1744
Which is fix x shifting left 1 unit and

shifting up 4 units



By horizontal line test those lines
in blue have more than one
intersectionpoint with fax
has.tn is not one to one

Sol To find the inversefunction We have 4stepprocess

ftp hft jH
cheek

switch x and y Fix X
and

steps replace y by fix flfex
1a fix 4 9 cheek

If f 4 411 9stepI 4 4 9 I 4.1 9
steps 4 44 9 I x 9 9
steps 4y 9 4 1 and

q q x

steps f I Hx



I
9 is the

inverse of fix
441 4

check
b fix 8 3 IFx ̅ 81517 3

Steps 4 8 3 1 81 87 3

steps x fy 3 1 1 37 3 D
andsteps 84 2 3 15k f 31

y f 1

steps f

Since fiftx and flfex then

FIX If is the inverse of f

checkc fix JXt8 8 I ffF JIFK
stept y te 1 7 8 I 2

8 8
steps 8 yes 1

steps 15 1 5 dy's I Fats

y g
and x o

570
1 and

4 22 8 flfix fix 5 8



Kept ftfI8andx o Ef 8

8 8 X

Sinu fff and Flfex x then

ft x 228 is the inverse of f
and x o

check
id fix 137 ffff.FIstepIyJ3XtTstepex

fytf1y 1 1 13.47
steps frt

and

ftp.e
x 3y 7 39 22 7 FE XCx

1 and a

y If if
stepy Efi

1
3

since f Fx X and flfex then

A is the inverse of f



Ie fix 6 FE 2

sept 4 6 1 42

steps x 6 fy 95m

steps 6.1 9 5
77 36 4 2

x ̅ 36g 72

36g 22 72

y

steptfxE.IT
dkft 6 tt 6 tt fF

6 fi I NE II
6T E X

and
f fix 16 IT t

36 1172 3613ft
Since f FIX x and f fix x then

f x is the inverse of f



f fix
3

I chef

Steed y x FAM CBP and

steps p If JP

stepsTEXT since x and flfix x

y I then ft is the inverse

steps A 1 off

e fix 4
Itstepf y x 1

steps
y 19

4

steps 14 8 5
I 5

ax xy 5 1 4 1
4

Xy 4 5

4 4 5640

stept 5



Since f ffx and fifex X then

ft 4 5 is the inverse of f

m
2 oct 2 check

f FMStef y 2

steps g

steps age y
xy 2x y

xg y
2x

yet
ax

g 5

stepfty 3

f 6 and

IIII



Since f flex and F'lfx x then

ft 3 is the inverse off

8 19 6

stepe g e y

xy 6 34 Ed
xy 34

62

y x 3 6K

y 3
3
FAN

staff

EEE
Since flflx and fix then

f 3 is the inverse of f



stay 5
steps

xg yt2
Xy 3 4 2

y y
2 4

Y X1
2 34

and
y

stay

Since f Fx and flex then

ft is the inverseof f



Sol How to find the proper restriction
Graphing fix then testing it by horizontal linetest

a f Ex
300 1

fix x but so

I pass the test
two options

not fix but so

0 I pass thetest
I will use as an example to find its inverse

8

45
3 30 start y x x o

step x y o

steps yo so

y X y 0 30

sept 30

ya
fax so

THE.NO



b fix 1 55 1 whith is fix shifting 5 to
a the left and shiftingup 1

4 A

11 E.EE HEfEE
two options

y

I will use as an example to findainverse function

Steph 4 1 55 1 5iii
stepe x ytioy 125 1 y 5

Y log 26 x O y 5

y 11461020
4

y 5

441002104 43 5

101141 10122 51 455
since 2ft is always positive and it will make



4 5 F to be less than 5

and 5 F to be more than 5

Then 4 5 It is the one we want

steptfftxj 5 r.it
The inverse of fax xtsf 1 5

is F x 5 2 1 71

c fix 1 1
14 of

trooptions
my

I will use as an example to find the inverse
Y fix x so

Steph y x x o

step x y y o

steps y x y o y x so

if you andy x itimplies
I



Y dy L p

stepyfly x 0

The inverse of fix so is

IN x 30

Sol To show f and g are inverse to each other

We need to check figex
gifex X

a fix x 3 gex 3

f gex gex 3 1 3 3 X and

9 fix fix 3 3 3

Then by f and g are inverse to

each other

b fix x 4 gex 4

figa I gex 4 4 4

44 4
8 X X



8
since figex then f andg

are NOT

inverse to each other

c fix 2 3 g x
X

f gey 2 gas
3 26 Z 3

27C 3 3 2K X

since figex 2K Fx then

f and g are NOT inverse to
each other

2




